Berechnungs-Beispiel
ACR

Beispiel:

Beidseitiger Anschluss

Balken 100x140 mm an Balken (C24) Fg.-g
gewabhlter Verbinder: 2 Stuck ACR9020 \ |
mit CNA4,0x60 Kammnagel F1 \—
- | -
Belastung: F f \
F14=4,1KkN; 4/5
Fo30= 3,2 kN; e =120mm | I
Fa54=2,1 kN bei e = 120 mm;
NKL 2; KLED = mittel — kmod = 0,8.
Werte aus der Tabelle (Website/Katalog):
R14=13,3x0,8/1,3=8,2 kN
Rasa=11,9x0,8/1,3 = 7,3 kN
343
R4 !f(8 e /0'8) 0,8 0,8
R 120 — 10,7 28 _ i (L2 2° _ coqrn
z ,d min 145 X 13 mm{lS,O X 13 6,9k
L /0,80'15
Nachweis:

F F Z (F z 41 2,1\% /3,2\2
<ﬂ+ 4/5'd> +<—2/3'd> = (—+—) +(—) =092<10 - OK
Riq Russa R334 82 69 7,3
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